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skl All questions are compulsory & e

G . 5

(2) Figures to the right indicate full ' marks. i
(3) Use of logarithmic tablelnomﬁrogrammable calculator 1sallowed

.

Attempt Any Three‘oftab ollowing: ‘
.. a). Discuss thq! Aac2 anism-0f acld -qf}llysed Qﬁ&nﬁcatlgn of carboxyhc acid.
h)i‘i~-=s-f,1.'3.isﬁi:? uish betw y and nugleophilicity.
a) . Discuss the stercochemistry of NGE'with a sdﬁable gxﬁiple _ﬂ.:i“ E
b). : g reac ion-an _‘namg3 e react@ mvolv@d. _
; :L, R A '—“-.--P . ‘:AI:-;_:M
i o & e 3
C. a) Explam w1th r@éehamsm.ﬂrolysm.rﬁ’ acetates.” ,’-5:"
b) Complete the following 1 reaction .and name the reaction mvolved
CH,COOCH; + NaOH —-——> ? ' .
D. Explain the mechanism of photoreducuon of benzophenone to benzpinacol.
E. a) Explain the Norrish type-IT reaction of pentan-2-one.
b) Write a note on photosensitization reaction.
Attempt Any Three of the following:
A. Explain the stereochemistry of unsymmetrically substituted biphenyls using
suitable example.
B. State whether following molecules are chiral or achiral
L COOH H COOH Il i
3 = \c-—c—c/ = e PR oy
a) M= / ST \ >< ><
HO——H CeHs H H 'I‘ ﬁ CH,
H )
. COOH
b) Define rotation reflection symmetry with an example
" Convert pyridine to pyridine-N-oxide. Draw the resonating structures of
pyridine-N-oxide.
What is the action of following reagents on pyridine-N-oxide?
b) 1) SO2Cl2
i) Conc.HNOs + Conc. H2S0;4 at 160° C.
Give the Bischler-Napieralski synthesis for the preparation of Isoquinoline.
Write the reaction of isoquinoline with alkaline KMnOa.
E. a) Write the synthesis of Indole-3-acetic acid.
b) What are Agrochemicals? How are they classified?
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Attempt Any Three of the following:

Write [IUPAC name of the followmg compounds

S NO,

CHs ,-_‘: s

- "; L g \
o 1]
i) i) . iy - 2 ¢
Ny a N
& ol A ;

5 o o &

i i ) ]

HOOC Br £ :

Ay
How adipic gg?ﬁi is pre@"ed fro:&ucose?v rite mg@ﬁcance vﬁfh reactmn
State any t.'QU prmclg@s of green chemlstgy Explag_n with sutf;?)le example
Write a noteon : .= A P 4."? \ 3
i) \\E:Factor;v 5 ‘\‘~ & ,;:?:"" Q
i) Sonication techmque usedcga orgamc@ynthesm
Calctulate thc»‘% atom @:onomy and theoretjéal yleld of the f0113w1ng reaction if

the given weight of phenol is ng’“' ‘u:;. ‘
OH 3 : _:'bCOCHa_ ' ' o
RN '
+ (CH3C0O),0 — ~—— + CH3COOH
1 60
(94) . (136) o

Attempt Any Three of the following:

a)
b)
a)

"b)

[llustrate the electronic transition of organic molecules. Give application of UV
spectroscopy.

What is Molecular ion peak and base peak in mass spectrum? Write the
significance.

Give analytical evidence to prove the nature of nitrogen in nicotine.

What are Terpenoids?

Explain isomerism in Citral.

Give analytical evidence to prove that Citral has a carbonyl group.

Write synthesis of Nicotine from Nicotinic acid.

Answer the following:

TR ome R 6 TR

Select whether the following statements are true or false (Any five)

A transition state has highest energy and least stability.

Carbonyl compounds containing a-H atom show Norrish type-I cleavage.
Karanjin is the main active ingredient of karanja oil.

Compound having centre of symmetry will be optically active.

Number of - bond in the structure of biphenyl is 6.

Trichloromethane is a green solvent.

Citral is a diterpene.

Decrease i absoiuance in_ensity 1. U.V spectrum is called Hypsochromic shift.
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B. Select the correct option and complete the following statements (Any five )
a. All Electrophiles are..............
a) Lewisacids b) Lewis bases
c) Neutral 35 d) Electron-pair donar
b. Conversion of allyl benzeneto phenyl cyclopropane is an\cxample of
............... reaction. ;
a) di-w Methane b) Nomsh ty?. e-1

¢) Norrish typerﬁ" q.,:%;'h

P o >
© a) Pyridine ,Q\_ b) Pyt _e-N-emde c}qumolmq d) isci"'qilinoline"”"
it onaiis iS0t i £ o8 o
SEE e N » c) Karag]a oil d)gndole-3 -acetic -
“acid : . %, v, -

.e. Phase _ the folloﬁ?ing is. W T

e . | Rgmy Ni o b);f' o' c) Qﬂ“ ~d) Quaterﬁary amrr;_omum hahde

2 Pent;ﬁl* ene on| on ggbdommag:dy gwes.. y-

Pen b) 2-Brom%pentane N e
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d) Wlttlg re@non ;

c) 1 Z-Dibromogentane d) l-BromopentQhe
g. Inamass Spectrometer an orgamc compound 18 bombarded with electron of

about 5. io o soranh ..energy.

a)500 eV b) 70 eV o) 1000 &V d) 5eV
h. Number of carboxyl group in Levulinic acid is..

a) one b) Two ~ ¢) Three d) zero

C. Match the column: (Any five )
a. Photoisomerization i.  Benzo[b]pyridine
b. Diels Alder reaction ii.  Cumulene
¢. Isoquinoline iii.  -OH group.
d. DDT iv  mass to charge ratio
e. Quinoline v. Cis-trans isomerism
f. Penta-1,2,3-triene vi. Benzo[c]pyridine
g. mle vii. Insecticides
h. Isoprene viii. herbicide
’ ix. Cycloaddition reaction
X. Saponification
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